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18+6=3 = 18+6=0.3

688+ 16 =43 = 6.88 +16 = |

0.43
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garold|A ¢ = 16404 2624 kg & S-St RL U
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12. ©hg ALY 4o ® 2HkE AL o ALY

8.01 +9=0.89
® 8.01+9=0.89 @ 0.89+9 =8.01
@ 0.89-9=28.01 @0.89 x 9 = 8.01

® 0.89+9=28.01
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(F)x (Hre ) = (HRolAle &) dYth
w2hA 8.01 + 9 = 0.89 9] AL

0.89 x 9 = 8.01 Y1t}
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35.28 +7

B AAAL 54%x 7 = 35289t}

3 3528 + 7 = 5.04
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19. & =30 Ho|7t 544ha G W, [ [eto] dwre £2 o
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54.4ha = 5440a = 544000 m2 |22,
(BBAAF 9] Wol)= 800 x| | = 544000
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20.

Abk 100 8719} v 50 37H0] SAE AGLHY 5t oleluth At
& A7) 2717} 30 kg ol 2k H) @ AREe] RAE B kg 917 Pt
AlL.

> & kg

5t = 5000 kg

Atk 100 AES] FA 30 x 100 = 3000( kg)
v 50 AFAFe] T 1 5000 — 3000 = 2000( kg)
B 1 AFzke] B 1 2000 + 50 = 40( kg)




